Math 100
American River College

Exam 3
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Good Luck!

No notes, books, or calculators allowed.

Name:

Student ID:

Write answers in lowest terms when appropriate

Show all work. Solutions without proper work will receive no credit.
Present work in a clear, organized manner.
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oF 1,908,029,761.
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Problem 1 2 3 4 5 6 7 Bonus | Total
Score
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1. (8 points) Graph the inequality on the xy-plane. Label all parts of the graph (the y-axis, x-axis,
two points, and the boundary line).

a. (8points) 4x+3y <6

W%o\mc\”‘& X-ink. Y=o ¥ ux = b C3/7-\°3
A . X=Z

¥-iak ¢ k=0

3\5;\0 (5\2-\
ﬁ\\’ \3';7,
R\ D Tesr Poret (0.0)
————
éﬂt\ (6/%‘9 Ox0 b
) o—> X oLl TCuwe
e ST
s S
ey N Uk DY LV

2. (10 points) Consider the relation:

{(2, —5)1 (3: _4)1 (2/ 0)1 (1) _5)}

a. (4 points) Given the relation, is it a function? Explain.

Not O\S;\m()c?on betouge X=7 1S ossociake d
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b. (6 points) State the domain and range of the relation using set notation.
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3. (16 points) Solve the following systems by using the indicated method.

X—2y=—4 —%» X= QﬂvL}

a. (8 points) Solve by substitution. {Bx +y=-5

2 xxy=-5

3(2\5_\4\ W= =9 %o\x&@« v&*

(“5__\)’_“6:.’5 X = '2.\3-(.‘
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=T X = -2\

= 1
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b. (8 points) Solve by elimination. { X

g TR S

. = 23 (»)
2 (3% r2y) (_‘ s By =2
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4. (13 points) Simplify the expressions.

a. (4points) 7x3 +3x2 —2x +x —5x3+1

= 250 ¥ 3 - XA\

b. (4 points) (—2x2 —3x +9) + (3x% — 2x + 8)

s 7(2 ~Sx ~\F

c. (5points) (6x% 4+ 11x + 2) — (4x? = 2x — 7)
= xTrNxt - Wy E

- 'Z;{L'\‘\SX'\—Q

5. (16 points) Solve the system of linear inequalities by graphing. Label all parts of the graph: y-
axis, x-axis, each boundary line.

x+y <2 (-n
{2x—y<8 (2)
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6. (22 points) Simplify the following expressions so the exponents are positive.
a. (3 points) (6y*)(5y°)

- 730\;‘

b. (5 points) (—6a3b™*)(4a=?b?)

- -24ab’

c. (5 points) (%)_1
- oW . -
> DR 3xy”

X

d. (4 points) (5% 10%)(6 x 103)
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7. (15 points) Find each product.
a. (6points) —x(x3 + 5x — 4)

-xq - 5):' +Ux

b. (4 points) (x —3)(x +5)
- XF45x -3x —\S

-

c. (5points) (2x + 1)(x? — 7x + 2)

= yZ () - () ¥ 2 (2% 40
_ 92 Xt - W - + Y+ T

x
§+¥=3 Q)
Bonus: Solve the system.

Z-2=-1 (2)
(Y 20( %4 +a—>= 20(3) g Ux +Sy = 60

(& ‘o (2 __:a:m(—\) X —35 =-lo
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